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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Trend plot forEQ4AW_W2
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05:30 60 30.0 0. 052 BE| {RRi8@05:30 Fz (REAEHE)
06:30 60 30.0 0. 052 RS 1Ri&e06:30 F3h (FFEEESE)
07:30 60 30.0 0. 052 RS {Ri&e07:30 Fz (REAEHE)
10:10 60 30.0 0. 052 FE| 1BRi%@10:10 F31 (kBERSE)
12:30 60 30.0 0. 052 FA| 1Bi&e12:30 Fzh (RAEREE)
15:00 60 30.0 0.052 |Z=| 1BRi&e15:00 Fzh (KAEESE)
=it 360.0 (6:%) 180. 0 3EHKEC: 2340.0, PH: 6.5

TERRHLER 2 STEELRT (43.0 :

ZRIASERRIERES1. 0 ml.

31.0), AIREKRFERE

RMEREBIPH (4.87) 5i8%EPH (6.2) REW K, BHET
REFRESIPH (4.87) 5FMPH (6.42) RERK, HHRE
FIRGERIPH (4.8) 5i8FEE (6.2) REK KX, FRE.
LORGEBIPH (4.8) S5HEAVEN (6.5) REKK, BRE.




EQ4AW_W2, Day=13 (2025-06-05)

30 f————f————f————fF———f————F "]
V1, V%RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 387 | 400
20 4280 290 791 300 &
200
156 -
10 - 140 =
92 L 100 &
- CEVEY | UEVO' T miesi 48
I Warning: lcol [FVI',| "FVO’] missing
; L 1,
R V] — ww p30
I 40 - FRV maxM
s L 25
% I I I rr1rrrrrrorrrr—rTTrTT =
— =
£ 20
- I [ I %0
E
1.0 I I I I H I II I I
"
0.8
0.6
0.4
0.2
Warning: lcol ["WC1',| "WC2'] missing
0.0
2800 1 —optECO0=1800.0, setECB=2340.0 ——  ECBx10% f
® ECC
2600 % = S > = X
o Y ® [ ( ] o
° °
2400
6.5 L _ootPHO=6.5, setPHB=6.5 _ _  _________________ ol o] ¥
6- 0 | N N N N N N N N 7
5.5
——  PHB*10% °
507 o  pHe
° e o o ® ° °
60 T 7 400
= Bylni:t @15 01:35: ET=174 Fg=210.0 Ro=7.0 =
= I - 300 &
540 : e
£ i —e L 200 E
E 20 - : 5
— : ] L 100 E
(NN} (&)
\
60151 11 2131 4561 7 8 9 0 i1 23] 516178 ]i9]2]2 2] 2 FJo
= g | B | Bl z=| B | B | B | B | B[ EB ;] FH BH | FH ;] FH BH | FH ;] FH BH | FH ;] FH o~
c 1 | c
S 404 ByEt @D13-19:29: ET=221 Fg=279.0 Ro=nan o—o+o—o—0o—o 300 =
~N ~
< L 200 E
C 5
= 100 &
0TG5 T 11 2131 4151617 8] 9 o112 ]13] 4 [i5[16 1718 ]19]2T]2 [272 FJoo
= g | B | Bz B | BB | B |Z2=] BB ;] FH R EFREFREFSEAEFAN FH EHERRSEZS R o~
c 1 | c
2 40| ByMoFv @15 01:35: ET=140 Fg=180.0 Ro=4.0 300 5
~N ~
£ : L 200 E
E 20 - : 5
= ! - 100 &
L 1 o
VOP—T 171 2131451677 8] ]9 o] i2] 4] 6] i8]0 2]z ] 2]2n]°
0el B | B | M Bz | M | % | & | 22| B | W | B | W 2222122122122 W | BB [B= 2] 0
0.6
0.4
0.2
|
| _obs
PPFD_obs
44 ,‘ ‘ w e v f




18.

18.

18.

18.

17.

18.

18.

18.

18.

18.

18.

18.

18.

18.

18.

18.

M_W

660 860
m=670,n FV0=0

T
1000

——

M_W

T T
675 680

m=910,m FV0=0

M_W

915 920

18.

18.

18.

18.

18.

17.

18.

18.

18.

18.

18.

18.

18.

18.

18.

18.

18.

17.

17.

m=440, FV0=0

—0—

M_W

T
440

4&5 450
m=720,n FV0=0

——

M_W

720

7&5 750
m=1000m FV0=0

——

M_W

1000

1005 1010

18.

18.

18.

18.

18.

18.

18.

18.

18.

18.

18.

m=540, FV0=0

——

M_W

5&5 5%0
m=770,m FV0=0

——

M_W

775 780

18.

18.

18.

18.

18.

18.

18.

18.

18.

18.

m=610, FV0=0

—o—

M_W

610

6%5 6é0
m=840,n FV0=0

M_W

840

845 850




hour

6:00

7:00

8:00

11:00

13:20

100

80

- 60

- 40

20



EQ4AW

Ffig) | JEBIATHC (FD) | ERE (BH/) | BEREE(B/R) | XS R

06:00 60 30.0 0. 052 RS {RRi%@06:00 Fz (KREAEHSE)
07:00 60 30.0 0. 052 B 1Rige07:00 Fzh (REEER)
08:00 60 30.0 0. 052 | 1Rige08:00 Fzh (KREEEEE)
11:00 60 30.0 0. 052 e Rige11:00 Fzn (REEHSE)
13:20 60 30.0 0. 052 B 1Rige13:20 Fzh (REEZRESE)
2it| 300.0 (5)%) 150. 0 3EHKEC: 2228.0, PH: 6.5

MEREHERE STMAEART (43.0 : 32.0), AREKREERE
ZRIASERRIERE32. 0 ml.

FEREBIPH (4.86) H5ig%EPH (6.2) RERK, F/RE
RMEFREBIPH (4.86) SFMPH (6.5) REKK, FHRET
LRGERPH (4.9) 5iEEE (6.2) REKK, BHAE.
LORGERPH (4.9) SiEBIEE (6.5) RERK, BRE.
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07:15 60 30.0 0. 052 5| {Ri&e07:15 Fah (5{&#114;,@3%)
08:15 60 30.0 0. 052 RS {Ri&e08:15 F 3 (iﬁﬁﬂzﬁ!’z%%)
11:55 60 30.0 0. 052 S| 1BRige11:55 Fzh (REEREE
23t 240.0 (4%) 120.0 EPUHKEC: 2470.0, PH: 6.5

TERRHLER 2 STEIEARTF (43.0 :

EIRGEBBTHCRIZIRELZIY (60 vs 52.0))

ZRIASERRIERE35. 0 ml.
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REXEBIPH (5.0) 5FMPH (6.5) WEKK,

B *.Lﬁ
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ERGEBPH (4.9) S5RBIE (6.5 RERK, HRE.
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